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1= | Introduction Ieg;[]grgf?rﬂlrl]ge 3
o= |Electric Circuit Variables Circujt Elements lecture online 3
active & passive elements, resistors and offline
= Circuit Elements indepentent & dependent lecture online
3= sources, transducers and offline 3
= Resistive Elements indepentent & dependent lecture online
4= sources, transducers and offline 3
Resistive Circuits Kirchhoff' s laws (KCL & lecture online
5= KVLﬂ ( and offline 3
6= Methods of Analysis of Resistive Circuits lecture online 3
node voltage & mesh current analysis and offline

2 /4




X H =2
TH Ao 8
2+ 7<x<|||:|:| J_I‘I_X-” al 7|EI_ AO4HI—A|H=1)\|7|.
== = 2l | = THOT it
Methods of Analysis of Resistive Circuits: i
7% | comparison of node voltage & mesh current Iegﬁgrgf?ﬁ‘“}ge 3
analysis
8% [Mid-term exam review 3 Mid-term exam
9= |Circuit Theorems: Thevenin! s Theorem & lecture online 3
Norton' s equivalent circuit and offline
103 |Circuit Theorems: maximum power transfer Iegﬁgrgf?ﬂége 3
113 | The Operational Amplifier Iegﬁgrgf?ﬂége 3
= |Energy Storage Elements: energy storage lecture online
125 devices Ecapgmtors? & g and offline 3
= |Energy Storage Elements: energy storage lecture online
13 devices Elndgctorsrﬁ1 o 9 and offline 3
14= | The Complete Response of AL and RC lecture online 3
Circuits: response to a constant input and offline
= | The Complete Response of RL and RC comprehensive r .
15 | GiFeaits: response to a nonconstant source, eview 3 Final exam
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